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I1BEC641

Sixth Semester B.E. Degree Exammatlg;

)

Operating System

July/August 2022

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, ch sing ONE full questmn»w rom each module.

6 a. Explain the important con(;epts in the operation of demand paging with diagram. (10 Marks)
b. For the following page reference string apply FIFO and LRU page replacement policies to
find number of page faults Use alloc =4.
Page reference stri gv‘ 5,4,3,2,1,4,3,5,4,3,2,1,5
Reference timc? 1 Hg: t1, to, 3, ta, ts, te, t7, tg, ts, tio, t11, t12, t13.
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23 5 a Explain contlguou and non contigious memory allocation. (10 Marks)
g3 b. Explain: 1) Pagmg ii) Segmentation. (10 Marks)
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Module-4
Explain the different file operations performed by processe (10 Marks)
Explain the interface between file system and IOCS., ' (10 Marks)
OR e
Explain the working of linked allocation of d1sk spetCe with a figure. (10 Marks)
Explain implementing file access with neat ﬁgﬁr 4 = ... (10 Marks)
CMRIT I/BBAR
Explain the primary issues in mplementmg message passing. . (10 Marks)
Explain the working of blocking ¢ d ﬁon—blockmg delivery protocols (10 Marks)
) OR
Define dead lock. Explain th ﬁyndltlon of dead lock in rgsource allocation. (10 Marks)
Explain the three fundamqnt‘al approaches used in di d}lock handling. (10 Marks)
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